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Master of Arts 3rd Semester Examination

1127
ECONOMICS

(Opt. (ii) : Economics of Industry-I)
Paper : MAECO-303 & 304

(In All Mediums)

Time: 3 Hours] [Max. Marks : 80

Note :- Attempt five questions in all, selecting one from each

Unit). Question No. 1 is compulsory,

1. Attempt any ten of the following short answer type

questions :

(i) Barriers to entry

(ii) Types of mergers

(iii) Characteristics of modern corporation

(iv) Objective of Mams' mode!

(v) Alternatives of profit maximization
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x
,

(vi) Growth of market and sellers' concentration

(vii) Contestable markets

(viii)Allocative efficiency

(ix) Monopoly power

(x) Passive owners

(xi) Limit pricing strategy

(xii) Productive efficiency

(xiii) Rivalry

(xiv) Conditions favouring collusion among firms

(xv) Measures of profitability 10x2=20

Unit-I

2. Critically discuss Williamson's model on managerial

discretion. 15

3. 'In an industrial enterprise as size increases, ownership

tends to get separated from control." Discuss. 15

Unit-II

4. Discuss different measures of sellers' concentration

and explain how Hffl index is the best measure ? 15

5. What are the incentives for firms to merge ? Discuss

how different type of mergers explain sellers'

concentration ? 15
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Unit-HI

6. Why do finns advertise ? How does it affect the

market structure ? 15

7. Elaborate on the role of R&D and its relationship

with market structure. 15

Unit-IV

8. Define sub-optimal capacity and the factors explaining
it 15

9. Profitability of a firm depends on the market structure.

Explain. 15
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(xiv)
(xv) <rll^<l^«*jdl "̂ T T?FR 10x2=20

2.
15
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4.

«*ai5«< i^ HHI PM&H* y^IrlM *iiM<h ^l»% % ? 15

5. "TvJf ^ fcid<l ^ ^l^-«*fl^ iTlr«ifsi i| ? «wi$^ 1% 1̂ »n
15

6.

TWif^Rr ^?ft T| ? 15
7. R cWT D ^ft 'jf'WT ^Ft f*IWK ^ UH$lim cWT " l̂̂ JR

«<-qii ^ ^3^ ^T^f «FT ^"N ^»lf^l 15

8.

T̂[% «f!̂  'q»Kq»T ̂  tFfa <tni«l«<l 15

9. T^> ^inf ^t <r1l*l<;W*dl <4NK ^WHI ''R l^nl^ ^3t %l
is
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2.

oft I 15

3. "fevb( QtiWfdlot [S^dtpferT f%% HfU ?^ £ JTO-tTO

Hte^ f<SWdd& ^t t(Pcdd1 f?f§^ f^t" rFSl" % I "

15era"

4.

15

5.

?> ? is

6. S^K fewldd'd fof^1 cx^til " ? fSZT WW3 & AdxJA1

fsri1 y&fes oraef t ? 15

7. R »f% D S

31 fefT % H«M' S7" ^^JCA ofg' I 15

8.

i%»rftf»F ora?> ̂ ^ ococx' tT" «c«ert sra" i 15
9. (Vex S^HUl'oi'st'e'fccxrf1 ytd'd H<at}<">' &% frt^sfc ̂ 1"

oft I 15
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